EARAROBEEIERT — 2 N— IBISH —F

201359818 (B) 2E#B12H

BIGN 055 10007 T ¥SR3ME (BE) () =8

‘ [R1&] & ‘ [REBE] — | & (£) 18000 RE

[AE4] 1 7% 14,400,000 @ ~ 2 7 :5,800,000 @ ~ 3 7 :3,600,000 ™

4 7% 12,200,000 5 & 1,440,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
H o5 | EEEER 1:50.3 2-2-2-2 [ 36.0[104.2| 2 450 | HET (ER)
1 N 7 2F X 57.0 (=) (-8) g’%?“
LV RYJYZIIR B39/ ETRNUT S
= i 4 4 | FlBEX 1:50.5 4-4-4-4 | 36.0 | 102.3 | 1 508 | £MESE (i)
N > PSR ZE R 57.0 s ) | 0 £<5av-x
R:HYIFTLIFL b B JO—U—4A1 b N k45
o o s > 5| BHE 1:51.0 10-9-10-9 | 35.9| 97.4 | 6 474 | DNBEAESA (3574)
3 g| 7YV IYRAS b - 57.0 3) (+2) | BRETF
XL ThANAN By IL—X HETr—L
i O 4 5 | KEFHRIR 1:51.1 5-6-6-6 | 36.3| 96.4 | 11 510 |HEER (EH)
7Y 6 M -0 (3/4) (+18) (B) 58—« 2K~ b
L2 14%2 0 ML BiHRN—=HA T K Lalzt e
. . . _ LATIE: TN :51. -3-3- . . FEE= (EH)
5gl15| AXHT 1752 [B) o4 B 1(/531*; 2-3-3-3 | 36.7| 94.4 | 3 422;) s
RYIRT 4 TSR B UNT =N TR F—
S 2 e < 5 H o4 | AREF 1:51.1 11-11-12-11{ 35.9 | 96.5 | 4 480 | EFHE (GEiA)
6T 12| FFAAAN—FT 57.0 76) g | FEF
X THANAIN BFAH T+ —F 2> HET77—L
> - 4 7 | AEEE 1:51.1 6-7-6-6 |36.3| 96.4 | 5 460 | EETS (EX)
718114 ¥IW7ITZAT— b 57.0 (NF) (+2) EBE’;HD»?
R:TFAT7LXE4 L B:OXT5A =t
S EPd 4 5 | GiBiE 1:51.5 11-12-13-13| 36.2 | 92.5 | 9 466 | ERBE (RR)
8 3|@®YIVTTZXT 57.0 2 1/2) +2) BRSO
R:ZFAT—IE BiE—E—TLJv— RIS
S 4 6 | ANBEIE 1:51.6 1-1-1-1 | 37.4| 87.1 | 8 476 | =/ BHF (EH)
9f7[13 #TEITAILE 57.0 (1/2) Lo |EERE
L:TANRTy Y1 B/ NUN=Z— FREHRS
. 44 | RS- 1:51.6 8-8-6-9 |36.8| 90.1 | 7 490 | HMAIURRR (i)
10[1]1] b—tthrF— 67.0 (N o) | B
X THANXIN BRYYL TG 1 M) — M ESE
v T+ T = 4 6 | REER 1:51.6 6-5-4-4 |37.1| 88.1 | 10 488 | ARFEME (ER)
111519 Ny TXTHND 57.0 () ) TR
LhVX=T71v7 B:U7L3a1— RS
— . 4 5 | HE—H 1:52.2 13-13-14-14| 36.7 | 85.9 | 14 | 496 |*EEA (5iH)
1ol 5| @=F)>O0—-LJ 57.0 & o BEE
R:HrsO—-Liv B:7UF— KIFEBIRS
A . o6 | SelifE— 1:52.4 13-13-9-6 | 37.5| 80.1 | 13 | 484 |EHHE (X#)
1300 11| XV T72T77 b 5.0 A 1/4) (+o) | BEET
L:T7IhtEy b By IR Ty IR X A
5 N 4 5 | RERKA 1:53.0 9-9-10-11 | 37.9| 74.9 | 12 | 494 |BEREIKE (=)
1406 4 | ®7 A I T7O—/N— 57.0 3 1/2) (4 | EEIEZE
RTIRAFS I BATIT)H— A XEYT7—L
5 4 6 | REWIC — - — - — — | KARES (EH)
% 61+ vAas M) =X 55.0 (F3H) (=) | ElEE
LiATATATL BiATOE-ULY Ep=tre )
@ 21 L
£ 48.5-36.1
NA> AL | 12.7-11.2-12.2-12.9-12.8-12.4-12.4-11.7-12.0
® 1—F—@EBIERL
13—7— 13(7,15)-2,10(9,14)-1,4,8(3,12) (5,11) 6
Pal=5F= 13,7,15-2,9,10,14,1(8,4)12,3-(5,11) 6
== 13,7,15(9,2) (1,10,14)11(8,4)12,3,5 6
43—+ — (x13,7)15(9,2) (10,14,11) (1,8) (4,12)3,5 6
[ N5
B 7 510 714K 2-7 230M e E 2-4 490 JEE 2-7-8 1,620
# B 7 160/ 7-8 720M B = 2-7 500 3EE 7-2-8 9,400/
2 110 2-8 500M B H 7-2 1,430
8 260M

ABICOVWTRDTEEERROODE. TR LIV,




